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Spørgsmål 1.1

import javabook.*;

public class TestApplication

{



public static  boolean borPaaFyn(int postnr)



{





return (postnr>=5000 && postnr <=5999);



}


public static void main (String args[])



{





MainWindow mainWindow = new MainWindow( );





mainWindow.show();





OutputBox outputBox = new OutputBox(mainWindow);





outputBox.show();





InputBox inputBox = new InputBox(mainWindow);





int postnr;





postnr = inputBox.getInteger("Indtast postnr: ");





if (BorPaaFyn(postnr))






outputBox.printLine ("Postnummeret " + postnr + " er fynsk");





else






outputBox.printLine ("Postnummeret " + postnr + " er fynsk");



}

}

Spørgsmål 1.2

import javabook.*;

public class TestApplication

{


public static  boolean borPaaFyn(int postnr)


{




return (postnr>=5000 && postnr <=5999);


}

public static void main (String args[])


{



MainWindow mainWindow = new MainWindow( );



mainWindow.show();



OutputBox outputBox = new OutputBox(mainWindow);



outputBox.show();



InputBox inputBox = new InputBox(mainWindow);



int postnr;



int antalIalt=0, antalFyn=0;



outputBox.printLine ("Indtastning af postnumre (afslut med –1):");



do



{




postnr = inputBox.getInteger("Indtast postnr: ");




if (BorPaaFyn(postnr))





antalFyn++;




if (postnr != -1)





antalIalt++;



} while (postnr != -1);



outputBox.printLine ("I alt "+antalIalt+" postnumre, heraf "+antalFyn+" fynske");


}

}




























